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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9398 −1,3466 0,4304 (λ=570)

D65:Σx−F02_L,s(λ)=95,22
xF02_L,s=0,2241
yF02_L,s=0,2425
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

D50:Σx−F02_L,s(λ)=82,30
xF02_L,s=0,2430
yF02_L,s=0,3009
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

P40:Σx−F02_L,s(λ)=88,15
xF02_L,s=0,2808
yF02_L,s=0,3254
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

A00:Σx−F02_L,s(λ)=99,99
xF02_L,s=0,3622
yF02_L,s=0,3790
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

E00:Σx−F02_L,s(λ)=89,71
xF02_L,s=0,2319
yF02_L,s=0,2682
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

C00:Σx−F02_L,s(λ)=86,59
xF02_L,s=0,2114
yF02_L,s=0,2530
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

P00:Σx−F02_L,s(λ)=91,39
xF02_L,s=0,2594
yF02_L,s=0,2945
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F02_L spectral tristimulus values Ysum=100
x−F02_L,s(λ)=A11l

−
F02_L,s(λ)+A12m

−
F02_L,s(λ)

+A13s
−

F02_L,s(λ)
A1j 1,9473 −1,4144 0,3647 (λ=570)

Q00:Σx−F02_L,s(λ)=89,82
xF02_L,s=0,2072
yF02_L,s=0,2408


